| e R M#n-f*’ e o st N R - .v':\.':: PRSI AR S —
-
i | N ‘ or up, round'

If the place value to the \\U of the place value you are round is 5 P,

If it is below 5, round : .

Round to the nearest|thousandt
™)

1.8.8964 9.9 ~\E\..n

2.0.4578 (O.-\9%

Round to the nearest.
3.78.958 1414 G

4.34.544 Ry L}
Round to the nearesttenth.)

5.1.567

. (o
6.9.321 q %

=stimating Decimals

ound your answer to the[nearest-hundredth 'and then estimate with tHe solution will be.
567 + 3.543 * AR
5.9+ 554 : L2004

987-12.973

' 1.499 - 1.9 :' 1n14a9




